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Chapter 4/12, Diff Eq Practice

28.

27.

12.

Which of the following is the solution to the differential equation % =%, where y(-2) = -1?

(A) =+x?-3 for =3 <x<4/3

Yy
(B) y=- x2=3 for x>3
© y= R 3 for x>3
D) y= x2 =3 for x<-3
(E) y=- x* -3 for x<-3

A solution of the equation % + 2xy = 0 that contains the point (0, ) is

(4) y=e'™
B) y=e"*
(C) y=e*
(D) y=e**
B) y=e"

Which of the following is the solution to the differential equation %’ = y2 , where

A-1)=1?

A) y=% for x =0
B) y=—1 forx<0
©€) y=-1 forx>o0
(D) y=-)17 for x>0
(E) y=715- for x <0
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21. If Zypwy andif y =50 when x =0, then y=

(A) 50e*
(B) 50e'0*
(C) 50e710%
(D) 50-10x
(E) 50— 5x?

. 2
10, 1f & _ xsin(x’)
dx

(A) 2 - cos(x?)
(B) 2 - cos(x?)
© 2- cos(x?)
(D) cos(x®)

(E) V2 -cosx

23. If g'(x) = 2g(x) and g(-1) =1, then g(x) =

, then y could be

A) e
B) e~
© &
D) &+

(E) e2x-2




